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o, oJKEC 9] W o]& +stoiet.
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58. T2 O™ aAABC oA /B =35, /C=65°°]1, O L4 HI=
212t AABC €] 91413 WAL o, 2x o] 715 Tatele

A

z
I

o O o
B 35 65 C

@D 10° @ 12° 3)15° @ 18° ® 20°

1) /B = 35° o|E&2 /AOC = 70°, ZOAC = %(180" -70°) =
55° . ZLOAC = 55°

ii) ZA = 180°—(35°+65°) = 80° |22 /JAC = %x80° = 40°
/x = LOAC — /TAC = 55° —40° = 15° . /x = 15°




59. o2 94 H 1+ aABC 9] WAlo]l, /ADI = 69°, /CEI = 81°
d o, /B 2] 27]E Fotofet.
&

D

i
o

| 2
> H=Eh: 40°

~&B \

H1+E AABC 9 YAolB=2
/BAE = /CAE = a, /ACD = /BCD = ¢ & 5}¥H

AAEC oA 9]7}+9] AJdof ]38 /CAE + /ACE = /AEB °|2
24+4+2=99°---O

AADC of| A €]Z+e] A& o] o5 LCAD + /ACD = /CDB °| 2
22+c=111°.---©

@, O HotH 3a+3c=210° =, a+c="T70°

S /B=180°-2(a+c)=180°-140°=40°




60. TS 1Y Zo] AB = AC ¢l o|5HAZY ABC oA 0 &
oA, A1+ WAiloela, /A =38° ¢ wf,,OBI 9] 27]&?

A
38

o 290 330 o o
O 13 @) 5 @? @ 16 ® 17

/BOC =2x/BAC=2x38°="76°
.. LOBC = 52°

(BIC =90° + %ABAC =109°,

1 71
/IBH= - x/ABC = —°
2 % 2

zx:zOBI:zOBC—zIBH:52°—72—1°:3—23°
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61.
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/go

WA @Y =3 74 F




